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Problem 1: (6 points) -
a) Find the equivalent resistor (Ryy) if all the resistors have a \'alq_c of 30 0
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Problem 2: (3 points)

") In the circuit shown, if ic

6A

due to 6 A source only is 1.6 A
a) Find vo due to 30 V source active alone
b) Find the power absorbed by the 10 Q

i, 10Q 20Q

|
L]
o
=

40Q <1 4i

.

o) g& ao{—.“ ailsnte

i

Uo = lOIn

Supec Mesh \-2

Iz-Il = Lro

50T, + 20T, 3o =0

AnSwer
No =2V ~ V., dwe Lo doV Source
ackive olone.

s

51, -1"2]:2:: 3
\5T, = 2
= 0-‘2ﬂ
W,

b) Bon= 19.-1;:1
To= I"\"-I‘:\

L - 2A mb-ﬂ;?o\'

To= " 2.!\
_ o)

ln.ﬂ- =

/_
224 wodt

(m’bwbec@

Scanned by CamScanner



i
Problem 3: (5 points)
Simplify the circuit in Fig, (a) to look like the circuit in Fig. (b) usin

the value of *R" and *V',
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'\K’roblem 4: (6 points)
6 Write all the nodal equations in terms of vs, vy and v, only
Vet B2V + ) V.=
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as the following form:
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